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‘The Functionless Investor’: Keynes’s Euthanasia of the Rentier Revisited

Tony Aspromourgos*

One of the more remarkable propositions of Keynes’s General Theory is that capitalism without property income is possible. In the opening sentences of the final Chapter 24, the chapter on ‘the Social Philosophy towards which the General Theory might lead’, two key economic defects of liberal capitalist society are proposed:

The outstanding faults of the economic society in which we live are its failure to provide for full employment and its arbitrary and inequitable distribution of wealth and incomes. The bearing of the foregoing theory on the first of these is obvious. But there are also two important respects in which it is relevant to the second. (Keynes 1936, 372; emphasis added)
The relevance of the descriptive theory of Keynes’s book for the goal of abolishing ‘unearned’ income indeed seems largely to have been overlooked, neglected or ignored in the subsequent development of Keynesian economics and wider Keynesian ideas.1 The prime purpose of what follows is to revive Keynes’s idea concerning the possibility of systematically pushing the underlying rate of interest towards zero. Or more precisely, it seeks to demonstrate that capitalism with a zero pure rate of return is a possible state of the world, which policy could enable (the character of the transition path to such a state is another matter). The achievement of that state would amount to eliminating ‘unearned’ income, ‘pure property income’, in the sense that it would result in a zero return from the mere ownership of property. There would only be returns to definite activities, at least under competitive conditions: labour, risk-bearing, entrepreneurship, and so on. The question considered here is whether this outcome is possible in a closed system; its desirability or ethical standing is left almost entirely unexamined.

1. Euthanasia in the General Theory
2. Keynes and Euthanasia in the 1940s
3. Sraffa and the Conventionality of Interest
4. A Model of Euthanasia with Full Employment
Because the theoretical system of Keynes’s General Theory is not entirely congenial to articulating the possibility of zero-interest capitalism, it is useful to provide here a model which better illustrates the conception (drawing on Panico 1993, 104–13; Cesaratto, Serrano and Stirati 2003, 42–4). While this model is a departure from Keynes’s GT model, it retains the essential elements of his theory: long-period output is demand determined; consistent with investment/saving equilibrium, the rate of interest is open to a spectrum of possible equilibrium values (including zero); and interest is determinable independent of the rate of profit in production. It may be emphasized that no pretensions to generality are being made for this model: it is just a simple formal way of cogently illustrating Keynes’s policy.

   Assume a single commodity, produced by means of homogeneous labour and circulating capital – l, v being the required labour and capital per unit of output, per time period (with v<1 for viability). The money price of output (P) is given by,

P = wl/[1–(1+r)v]




(1)

where w is the money wage. The uniform rates of real wages (w/P) and profits (r) are bound together by:

w/P = [1–(1+r)v]/l



(2)

There is a minimum consumption per worker (c), below which the real wage cannot fall – with c<(1–v)/l, for viability and positive profits. Hence the spectrum of feasible values for r is:

[(1–v)–cl]/v ( r ( 0



(3)

Output (Q) is determined by aggregate demand arising from private consumption (C), private investment (I) and government expenditure (G). All wages (after tax, at the rate t) are spent on consumption, and all net profits (also after tax at rate t) are saved. (The same applies below, to interest income.) Investment demand is determined by the replacement requirements of the current capital stock (vQ), and the additional capital required by firms’ uniform expectation of the growth of demand (ge):

I = v(1+ge)Q




(4)

Q = C+I+G = (1–t)(w/P)lQ+v(1+ge)Q+G
(5)

Substituting equation (2) into equation (5) and rearranging:

Q = G/[s–v(1+ge)]



(6)

where s is the proportion of gross output not used up in induced consumption:

s = 1–(1–t)[1–(1+r)v]



(7)

the term in square brackets being (pre-tax) real wages per unit of output produced (eq. 2 above). The further restriction,

(s–v)/v > ge




(8)

which makes the induced demand for output (per unit of output produced) less than unity, is required to ensure a meaningful solution. This assumption, together with the restrictions ensuring that s is less than unity, guarantees that the multiplier in equation (6) is greater than unity and finite. The money wage may also be taken as given.

   Equilibrium requires that expected growth, and the actual growth rates of demand and capacity (g), coincide:

ge = g





(9)

Suppose three financial assets – stocks of outside money (H, with no income yield), government bonds (B) and equity in the private capital stock in production (PK), all in money terms – and demand functions for those assets such as to generate desired proportions in which wealth-holders will accept those assets, relative to gross income from production (PQ). In equilibrium, these desired ratios (ah, ab, ak), a function of yields, will equal the actual ratios (h, b, v):

ah(r, i) = H/PQ ( h



(10)

ab(r, i) = B/PQ ( b



(11)

ak(r, i) = PK/PQ ( v



(12)

where i is the yield on bonds. In equilibrium also, net private investment plus the public sector budget deficit will equal net private saving, here expressed as proportions of gross national income from production:

gv+(d+ib) = (1–t)(ib+rv)



(13)

where d is the primary public sector budget deficit – the budget deficit net of public sector interest payments – as a proportion of national income from production. Note that the constancy imposed upon h and b renders public sector budget balance sustainable in the usual sense. Finally, the budget deficit is financed by issue of outside money and issue of government bonds, in proportions ((, 1–() respectively:

((d+ib) = hg




(14)

(1–()(d+ib) = bg




(15)

   Keynes’s desired policy outcome in Chapter 24 of the GT, full employment with zero pure property income, can be imposed upon this model as a way of closing it, as follows: government exogenously sets the levels of one policy instrument (i) and one objective (g) – interest is set at zero and the growth rate is chosen with a view to workforce growth and the consequent requirements for full employment (the chosen g being assumed consistent with restriction 8 above). With i fixed at zero, r must adjust to ensure equilibrium between portfolio holders’ desired ratio of equities to income and the fixed actual ratio, v (eq. 12). Assume there is a unique and stable equilibrium value of r (presumed positive) which can achieve this, and that it is consistent also with restriction (3). With r thus determined, the money price of output is determined (eq. 1), and the proportions in which portfolio holders desire to hold outside money and bonds are determined (the LHSs of eqs. 10, 11). The ratios h, b must therefore conform to these desired proportions, presumed positive. Hence in equations (14) and (15) there remain just two variables to be endogenously determined, ( and d. Assume the unique solutions for these two policy variables are meaningful (i.e., between zero and unity, though when i>g, equilibrium d may take a negative value). With d determined (and stationary along the growth path), t also will be determined: it is the only variable remaining in equation (13). Assuming equilibrium t also is between zero and unity, the multiplier in equation (6) is satisfactorily determined – and of course the growth of G and Q will be identical. The growth of autonomous demand will be equal to, and indeed will be determining, the growth rate of output: the growth rate of G is the instrument by which policy achieves its objective, g.

   This solution takes for granted that the economy can be balanced at full employment, with an absence therefore of inflationary pressures from the demand side. Even if this is acceptable, there remains also the possibility of inflationary pressures from the cost side, or from distributional conflicts. This points to the problem of policy instrument assignment once monetary policy is assigned to the objective of zero interest: what instrument is left to be assigned to inflation?20 If fiscal policy cannot be assigned to inflation – because inadequate as to impact, or inadequate as to speed, or because constrained by its role in pursuing other objectives – then some other instrument must replace monetary policy as the means to pursuing whatever inflation objective is chosen. If it turns out that no other instrument is available, and hence monetary policy cannot be released from its traditional objective of pursuing inflation, then euthanasia would be compromised. But a continuing need to use monetary policy as an anti-inflationary instrument – though rendering continuous euthanasia impossible – would not necessarily pre-empt a long-run zero-interest policy. A long-run target of zero would be consistent with temporary deviations above zero to counter inflationary pressures. Indeed, to the extent that the efficacy of interest rate variations in containing inflation occurs precisely via agents’ perceiving interest as deviating above its normal value (Pivetti 1991, 44–5), this anti-inflationary role can be effected via deviations above any norm for interest, including zero.21 Furthermore, in a system with persistent (desired and/or actual) positive inflation, so that nominal and real yields diverge, a policy objective of zero real pure interest would require setting the riskless rate of interest equal to the trend inflation rate, rather than equal to zero – and anti-inflationary monetary policy with respect to this positive inflation target would require deviations of interest above that positive rate.

5. Concluding Comments
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20. Keynes himself in 1937 had advocated ‘cheap money and fiscal surpluses’ to contain inflationary pressures in a Keynesian-managed economy kept more or less continuously close to its supply constraint (Skidelsky 2000, 503). In 1945 he expressed a measure of fatalism about the potential wage inflation problem – ‘One is …, simply because one knows no solution, inclined to turn a blind eye to the wages problem in a full employment economy’ (Moggridge 1980, 385) – though how seriously such a passing comment should be taken is open to question. In the post-War period ‘incomes policies’ were commonly offered as an alternative instrument.

21. In the 1945-46 deliberations Keynes is evidently partly against using interest rate rises to deal with inflation because of the potential difficulties he perceives in subsequently reversing the variation. Booth (2001, 285n.3) draws attention to Keynes’s consistently arguing in the 1930s ‘that once the long-term rate rose it would be difficult to bring it back down’ (also Moggridge and Howson 1974, 240).

